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(BT : A—FJL)

AN

B |X=Z8 |[S@8 [EES FEE |OEGR | mEH |RE AR M HE F#0 FHS [k fEE
1| 5 NE| 7 ENE[ 1 S| 2 SE| 4 E| 2 NE| 6 NNE| 6 ENE| 4 E| 4 NNE| 4 N| 8 ESE| 4 NE| 3 SE| 7 E
2| 6 NE| 7 ENE| 2 S| 2 SSE| 3 ENE| 2 6 NNE| 6 ENE| 4 ESE| 3 NNE| 4 N| 7 ESE| 6 NE| 3 SE| 6 E
3] 6 NE| 8 ENE| 1 Sw| 2 E| 4 E| 3 E| 6 NNE| 8 ENE| 3 ENE| 2 ENE| 3 NNW| 4 SE| 3 E| 3 SE| 4 E
4] 7 NE| 8 ENE| 1 NE| 4 ENE| 6 E| 2 SW/ 6 NE| 7 NE| 3 SE| 1 ENE| 4 NNW| 4 ESE| 4 E| 2 ESE| 4 E
5/ 6 NE| 6 NE| 5 NE| 7 NE| 4 E| 3 NNE| 8 NE/10 NE| 2 E| 1 NE| 4 N| 4 ESE| 3 E| 2 ESE| 6 E
6] 7 NE| 7 NE| 6 ENE| 6 ENE| 9 E| 2 NE| 6 NNE| 9 NE| 1 SSW| 1 wsw| 4 N| 7 ESE| 3 ENE| 4 SE| 6 ESE
71 7 NE| 7 ENE[ 7 NE| 5 ENE[10 E| 4 NE| 6 NE|10 NE| 3 ESE| 1 SW| 3 NNW| 4 ESE| 4 SE| 4 SE| 7 ESE
8| 6 NE| 10 ENE| 6 NE| 11 NE| 10 E| 6 NE| 7 NE| 9 NE| 4 ESE| 1 NE| 5 N| 6 SE| 3 ENE| 3 ESE| 9 ESE
9| 6 NE| 10 ENE| 9 ENE[12 NE[ 8 E| 5 ENE| 8 NE| 4 ENE| 4 SE| 2 NNE| 3 NNW| 6 ESE[ 3 S| 4 ESE| 7 ESE
10/ 6 NE| 12 ENE| 10 ENE| 13 NE| 8 E| 3 SW/ 5 NE[10 NE| 6 ESE| 3 NNE| 4 NNW| 6 SE|l 3 N| 3 ESE| 8 SE
11| 5 ENE| 11 ENE| 11 NE[ 14 NE[ 7 E| 1 WSW| 5 NNE[10 NE| 4 ESE| 1 NNW| 5 Nl 4 SE| 3 NNW| 3 ESE| 8 ESE
12
13
14
15
16
17
18
19
20
21
22
23
24
| 6 8 5 7 7 3 6 8 3 2 4 5 4 3 7
K| 7 NE[ 12 ENE[ 11 NE| 14 NE| 10 E| 6 NE| 8 NE[10 NE| 6 ESE| 4 NNE| 5 N| 8 ESE| 6 NE| 4 SE| 9 ESE
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